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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section—-A / Gvs—d
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Note : Section ‘A’ contains four (04) long answer type

questions of nine and half (9%) marks each.

Learners are required to answer two (02) questions
only.

B-22 P.T.O.



[2] CH-09

e @ ‘P W AR (04) <Y S WA e T

1.

B-22

TF IE F AU we A (01) ofF fwiRa €
fremfeR or 378 ¥ ®ad o (02) YTl P SR o
g

Describe the magnetic properties of transition metal
complexes. Also, describe Guoy’s method for

measuring magnetic susceptibility. 9%
HHT Tl /Gl & Hahell & Db Ol BT U
BT | 1 Hepet AMb B Frd TRl Bl
9 @ 9y fafey o1 A 9o B |
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Discuss the selection rules for d-d electron
transitions. 5%
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Explain electronic spectra of Ti(H,0)g 4
Ti(H,0)g > WHa & Foldagi™e quihd Bl

NEEIEN

Describe the various factors affecting the stability

of co-ordination compounds. 5%
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Al 1 i wfdd e & |

Differentiate between thermodynamic and kinetic
stability of complex compounds with example. 4
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4. (i) Define organo-metallic compounds and discuss

their classification. 4
FEfcad AMBT 1 IRAIRT HIRY qon 57D
TR DI ARAT BT |

(i) Explain the bonding between a metal and CO
ligands. 51
Ug 9 d1 CO formvs & d U o ardt
9 B G |

Section-B / Yls—g

(Short Answer Type Questions) / (eTg] ITRIF U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of four (04) marks each. Learners are
required to answer four (04) questions only.
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1. Example the term ‘Symbiosis’, giving example on the
basis of HSAB concept.
BOR g I &R Rgrd @ JER W &
RTINS’ B AT |

2. Explain low spin and high spin complexes.

[T Fghr T Sea Fhvl Hepel AMNDI DI FHISY |

3. Determine the magnetic moment (pspin) of [CoRs]3@
complex.

[CoR PO Waqa AfMe & FEaT I (ugy) BT
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Draw Orgel diagram for d2 electron system
(octahedral).

d2 SoldgH AR (IEHhAad) & 3iffd i @
GG DI |
Discuss 18 e~ rule with example.

JCERYT Afed 186~ I\ & &R BIfTY |

Explain why [AgFR,]® is unstable while [Agl,]® is a
stable complex.

TR & T [AgR]© SRS e [Agl,]® Ud
YT W B |

Write a note on essential and trace elements in
biological system.
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When SCN- ion is allowed to react separately with
Co?® and Pd5® ions, the products formed are
[Co(NCS),]%© and [Pd(SCN),J?® respectively.
Explain with reason.

G4 SCN- @[ @I Co2® Tl Pd6® Al W
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Section—C / GUs—TT
(Objective Type Questions) / (@IS T)
Section ‘C’ contains ten (10) objective type
questions of half % mark each. All the questions
of this Section are compulsory.
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Choose the correct answer :
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1. Which one of the following is not a hard acid ?
(@ Li® (b) Na®
(€ K® d Ag®
fferiad § | @ HoR Fd el © ?
(@) Li® @ Na®
(@) K® (@) Ag®

2. Phosphazines can exits as :
(@ cyclic trimer
(b) cyclic tetramer
(c) linear polymer
(d) All of the above
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A high spin complex compound has three electrons in
its (n — 1) d level. The spin only magnetic moment
should be :

(a) 1.73BM (b) 2.83BM

(c) 3.87BM (d) 4.90 BM

U% Iod IG5 el AMd & (n-1)d Hed H I
Soded 2| SH dad dghv g+e|cb“|q WELUT CARRIE]
B

() 1.73BM (@ 2.83BM

(|) 3.87BM (&) 4.90BM

The IUPAC name of [Fe(Cp),] should be :

(a) bis (n3-cyclopentadienyl) iron (0)
(b) bis (n5-cyclopentadienyl) iron (0)
(c) bis (n-cyclopentadienyl) iron (11)
(d) bis (n-cyclopentadienyl) iron (11)
[Fe(Cp),] @I IUPAC M BT @MY :
@) R (n3-arEddiU<regTad) 3R (0)

@ 9 (n2-AIEddlU<rSISd) AR (0)

)
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The number of electrons present in [Mn(CO)s] on the
basis of 18 e rule, would be :

(@ 14 (b) 15

(c) 18 (dy 17
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18e M & MR W [MN(CO)s] # fhaw Selage
gl ?

(31) 14 @ 15

(@) 18 @) 17

In the formation of [Ag(NH53),]Cl, the complex
attains :

(@) Linear geometry

(b) Trigonal planar

(c) Square planar

(d) Pyramidal

[Ag(NH,),]Cl € @1 fshar 4 I8 Adgel ST
3T &

@) &=

@ o g

(@) o FHdeE

(7) RIS

Which one of the following M — C bond should have
highest ionic character ?

(8 Si—C (b) Al—C

(c) Mg—C (d Na—C
frafofed & 4 ff,a M — ¢ o9 § w99 e
ST 0 BT ?

(@) si—cC @ Al—cC

@) Mg—cC @ Na—cC
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Which element out of the following is regarded as
trace element in biological system ?

@ K (b) Ca

(c) Fe (d) Mg

ffoRed Tl § 9 SH-1 T Oifdd gaver # 3
A% T & ®Y H AT Sl © 2

(@) K @ ca

(@) Fe (@) Mg

Wilson disease is caused by :

(@) Excess of Fe

(b) Excess of Cu

(c) Deficiency of Co

(d) Excess of Ca

fee T = @ A Bl 2

(&) Fe @I rferdar 9

@ cu @ 3 |

(@) Co @ FH A

(8) ca @ 3f@Har A

Number of unpaired electrons present in high spin
[Co(F)s]?® complex should be :

@ Two (b) Three

(c) Four (d) Five

UF I2d IHU Hhd [Co(F)e PO # SRgFAa getagl
@1 T Bl Iy
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